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STATE LEVEL NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION, 2024
SCHOLASTIC APTITUDE TEST
For Class VIII

Time : Scholastic Aptitude Test - For General - 90 Minutes, For Disabled (Only Blind) - 120 Minutes Full Marks : 90

Instructions to Candidates
Read the following instructions carefully before you Answer the Questions.
Answers are to be given on a seperate OMR Answer-Sheet.

1. Please write your Scheme Code, State Code, Year, District Codg, Centre Code and Roll No. very clearly (only one
digit in one Block) as given on your Admission Card. Please see that no Block is left unfilled and even zeros appearing
in the Scheme Code, State Code, Year, District Code, Centre Code and Roll No. are correctly transferred to the
appropriate Block on the booklet and on the Answer-Sheet. For example, a student of Class VIII appearing from 'P'
Centre, Scheme Code '3', State Code '20', Year '24°, District Code '88', Centre Code '88' with Roll No. '888', will
make entries in the Block as well as darken the related circle by a Blue or Black Point Pen as under :-
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For all subsequent purposes your Scheme Code, State Code, Year, District Code, Centre Code and Roll No. shall
remain the same as given on the Admission Card.

This Question Paper consists of 90 Questions.
All questions carry 1 mark each.
Since all questions are compulsory, do not try to read through the whole Question paper before beginning to answer it.

Blank space has been provided for rough-work at the end of each subject.
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Remember you have to darken the circle of Answer-Sheet by a Blue or Black Ball Point Pen only; do not use a
pencil.

7. Answer to each Question is to be indicated by darkening the circle by Blue or Black Ball point pen only, the correct
alternative in the Answer-Sheet from amongst the ones given for the corresponding Question in the question-
booklet.

8. Now turn to the next page and start answering the questions.
9.  English version of the question paper will be considered as final in case of any dispute arising out of the variation in translation.

N.B.: Do no write on Question-Booklet anything except the Scheme Code, State Code, Year, District Code, Centre
Code and Roll No. However, Rough Work can be done anywhere in the space provided for it in the Booklet.
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Time : For General - 90 Minutes, For Disabled (Only Blind) - 120 Minutes Full Marks : 90

INSTRUCTIONS

1. The subjects of Scholastic Aptitude Test are divided into three groups, as given below :

: Subjects covered under the No. of Marks allotted to each
Sl. No. Title of the group group Full Marks questions question
(A) Sc.ier'lce. Physi(?s, Chemistry 35 35 1 (one)
Discipline and Biology
B) Social Studies History, Geography, 35 35 1 (one)
and Humanities and Civics
© Mathematics Mathematics 20 20 1 (one)

Please Turn Over the Page and Start Your Work.
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Physics ( >0fe=t) [PHY-1]

1. How can a vector quantity be different
from a scalar quantity ?

(1) A vector quantity has both
magnitude and direction.

(2) A scalar quantity has both
magnitude and direction.

(3) A vector quantity has only
magnitude not direction.

(4) A scalar quantity has only
direction not magnitude.

2. What is the force that opposes the motion
of an object in a liquid ?

(1) Friction
(2) Gravity
(3) Tension
(4) Inertia

3. In which case would static friction be the
largest ?

(1) A heavy box on a smooth surface.
(2) A light box on rough surface.

(3) A heavy box on a rough surface.
(4) A light box on a smooth surface.

4. Which of the following surfaces would
produce the most regular reflection ?

(1) Rough and uneven surface.
(2) Smooth and polished surface.
(3) Transparent surface.

(4) Opaque surface.

1.

4.

U Ry R o ARy U q W R &
gl 8 7

(1) afewr T & oREmr R R a1 @
g

(2) ey TfRr & qRerer o) R A B
g1

(3) @Ry R F Paw oA Aar B R
‘ &t BT B

(4) Ry W F Paw R Sar ¥ aRwmor
Tel BT B

98 PN W 9q § o et Za § R agg @
et &1 foy e @ °

(1) =S
2) Tod
(3) T
4) e
fhe Rafr & @fee avo qad F97 8 ?
(1) fre T8 T @1 &% A1 T (Box)
(2) GGl qde W @1 T &h TR0 (Box)
(3) GIGY e W TN Th Wl T (Box)
(4) FemF EE 9T @1 T & see (Box)

frfafed & @ o o Tae qeg ofte Fafid
yfafes Sa= ®a ?

(1) Gl ok e o
2) R o) O 1 g3 e
(3) URERT "

(4) SRSt Tae

&)



A force of 800 Newtons is applied to an
area of 2 square meters. What is the
pressure on the area ?

(1) 400 Newton/m?
(2) 1600 Newton/m?
(3) 200 Newton/m?
(4) 4 Newton/m?

How does pressure change when force is
applied over a large area ?

(1) increases
(2) decreases
(3) remains the same

(4) first increases and then decreases
rapidly.

When a light ray strikes a mirror with an
angle of incidence of 25 degrees, what is
the angle of reflection ?

(1) 75 degrees.
(2) 50 degrees.
(3) 25 degrees.
(4) 100 degrees.

Sound waves with a high frequency are
perceived as

(1) Loud
(2) Soft
(3) High-pitched

(4) Low-pitched

[PHY-2]

Th 2 §fieT & & F 800 e H qA A
ST & (&% %I q@1E A BN 7

(1) 400 e ufar #ex
(2) 1600 =g i Hex o
(3) 200 e uf Hiex
(4) 4 e ufy HreT T

\

I3 8% WX S T A &9 B 99 Hg THR
gRafdd aiar & ?

(1) =g |

(2) € SR |

(3) R & B |

(4) TN | TEHK T A B |

S T TBR @l feor fhe ador g1 25 fesh &
BT G gl 8, O ufcfes @1 Pior r B ?

(1) 75 fe&h
(2) 50 feh
(3) 25 fe
(4) 100 f&h

Jed HERT Al e a1 AR S 8 -
(1) X ¥ @ (Loud)
(2) 9% & @ (Soft)

(3) @ @ dreoar @ = @ ol 8
(High-pitched)

4) @« H dorar T T w; P BN
(Low-pitched)
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10.

11.

Sound cannot travel through which of the
following ?

(1) air

(2) water
(3) vacuum
(4) steel

Which of the following forces is a non-
contact force ? '

(1) Friction
(2) Tension
(3) Magnetic force
(4) Normal force
In electroplating, cathodes are
(1) Positively charged
(2) Negatively charged
(3) Neutral

(4) None of the above

[PHY-3]

frrifoiea & ety fore wrem & =@ T2 gt ?

(1) &
(2) 9

(3) fafa (3gm)
4) €«

10. f=fefea & @ @9 @1 59 orduH-aq & ?

(1) =

(2) 9

(3) B T

4) M= 99

11. fgaawT (Electroplating) & &¥ (Cathode)
e X @ B § 7

(1) «mEafd (Positively charged)
(2) ®mAfdE (Negatively charged)
(3) e

(4) IWF F Fg A T
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Chemistry ( Tq&T)

12. The plastic which is coated on the
uniforms of fireman to make them fire
resistant is

(1) Bakelite
(2) Polythene
(3) Teflon
(4) Melamine

13. The man made fibre rayon is chemically
identical to

(1) Wool
(2) Cotton
(3) Silk
(4) Bakelite
14. Gold can react and dissolve in
(1) Dilute hydrochloric acid
(2) Concentrated hydrochloric acid
(3) Aquaregia
(4) None of the above

15. When a copper vessel is exposed to moist
air for a long time then a green coating is
formed on its surface. What is the
formula of green coating ?

(1) Cu(OH), + CuCO,
(2) CuO + CuCo,
(3) Cu,0 + CuCO,

(4) CuO + Cu20

[CHE-1]

12. 38 %N G TReH & o ARAEE HHerd &
FIS W UF Ysq O¢R Ol & ane Afg 9
I S99 & T |

(1) searge
(2) e
(3) T
' (4) AR

13. 3& AWa Fffa e S teEte 57 @ ‘wm”
® AN &

(1)
) Ffew
3) fues
(4) Y3mge

14. G AT FX TebaT © U9 g Hebal ©
(1) T EEgERINRG ST
(2) U= EEZEING o
(3) T T

4) T § B T

15. 59 TF HW & I B % g1 ¥ T gHG
T @1 AT & a9 SHS ga8 W & O & ®/a
TH A S I IHER T HGA B ?

(1) Cu(OH), + CuCO,
(2) CuO + CuCO,
(3) Cu,0 + CuCoO,

4) CuO + Cu,0
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16.

17.

18.

19.

Which of the following is not used in
making matchsticks these days.

(1) Potassium chlorate
(2) White phosphorus
(3) Antimony trisulphide
(4) Red phosphorus

Which of the following gas does not
contribute to the formation of acid rain

17

(1) Nitrogen monoxide
(2) Nitrogen dioxide
(3) Sulphur dioxide
(4) Carbon monoxide

Which of the following does not involve 18

a combustion reaction.

(1) Production of heat and light from
kerosene in a lantern.

(2) Production of heat and light from
hydrogen in a rocket.

(3) Production of heat and light from
hydrogen in the sun.

(4) Production of heat and light from
wood in a bonfire.

In order to obtain a coating of silver
metal on a flower vase made of copper
the electrolyte has to be

(1) Silver nitrate solution
(2) Copper nitrate solution
(3) Copper Sulphate solution

(4) Ferric nitrate solution

19.

[CHE-2]

16. wieg @ fofedl & a9 § = & @ e

SYANT SToTha 718} feham Srem ® |

(1) dieRem FiRe
(2) HBE BIEHRE
(3) TEEE SRS
(4) T BEHRE

o # BN o g # dEm @ #Ra

2

(1) QS AeiirEe
(2) RGN SEelEES
(3) T SRONFEES
(4) FEF ACTHTES

. B H @ e T @ ol & A @ Qe

g

HART AT B e § St IS Td
YpIT S~ hT{HAT

Abe H RSN D SN F IWT Td
RIS I BT

T4 W EEEOM & BN IS Td S
I BT

AT H qABS B T § IHT TG BT
SRERCE

)

)

3

4)

FR P I | A6 B WG g6M P e F=

% 9§ g e # Iugn e ?

(1) TR wgge fawaw

(2) R TEgT H RwaT
(3) W FAHS H T
(4) BR% TEIT B e
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[CHE-3]
20. In the purification of copper, anode is 20. #WR &Y & YREFT 3 U ‘T’ a0 B

made up of T
(1) Positive terminal and pure copper (1) oIcH T & HI
(2) Negative terminal and impure copper (2) FOMHF T4 IS P
(3) Positive terminal and impure copper (3) =TS T AYS HR
(4) Negative terminal and pure copper (4) FOTEH T Y& BXW
21. In the electrolysis of water 21. 9 % faE Suwest @ ufear &

(1) Oxygen gas is formed at anode and
hydrogen gas is formed at

(1) o I Tl W Iq9 &M

ooy BRSO 9 HAIS U I« BT |
(2) Oxygen gas is formed at cathode (2) RN I AT W IOF B UG
and hydrogen gas is formed at TEZSH I TS TX IGH EFT |
anode. \
R : (3) EEgM T SERiSH T A TS ®
(3) Both hydrogen and oxygen formed S B |
at anode.
(4) Both hydrogen and oxygen formed (4) BRSNS U SifeEor I O S W
at cathode. i I B |
22. A lot of dry powder of ome of the 923 gmr T 3 fw fer & @ B9 1 TeEe
following chemicals can be released over v B g TS B &9 A OF W IENT A
a fire to extinguish it. This chemical is - ST S |
(1) Plaster of Paris (1) @ReX 3% ARG
(2) Washing soda (2) 99 g arEl
(3) Baking soda (3) @M Al HisT
(4) Bitumen 4) fagae

For Rough Work Only
(Faw oTget wed B fomw)
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23.

24.

285,

26.

27.

Biology ( w@-REm)

The first step before growing a crop is
(1) to turn the soil and loosen it.
(2) toremove weeds.

(3) to add seeds into the soil.
(4) to add water in the soil.

Micro organisms are classified into
(1) 2 major groups
(2) 3 major groups
(3) 4 major groups
(4) 5 major groups

Which of the following is the causative
micro organism for tuberculosis disease

(1) Protozoa
(2) Virus

(3) Bacteria
(4) Fungus

At which temperature the mik is
pasteurized ?

CL) 60°C
(2) 70°C
(3) 80°C
(4) 100°C

In which state Betla National Park is
situated ?

(1) Jharkhand
(2) Bihar

(3) Rajasthan
(4) Uttar Pradesh

23. ®HW I H Tl I © -
(1) P& it IeeT AR e B
(2) GUER & &Ml
3) W& § 991 s
4) ™E A ot s
24. g Stat & e frar T
b)) 2 yE it
2) 3 @ F1 &
3) 4 yg@ FI A
4) 5 @ I &

[BIO-1]

25. e & @ B9 R @ R QR

g -
(1) ArrsieT
(2) fammy
(3) Shary
“4) F9%

26. f69 AT W qg B gl
2

(1) 60°C
(2) 70°C
(3) 80°C
(4) 100°C
27. 9 U9 § qar A9Na T 7
(1) sEs
(2) =R
(3) TN
(4) T SR

fopar S

(12)



28.

29.

30.

The stage at which all the body parts are
identified in the womb of mother is called

(1) Zygote

(2) Embryo

(3) Foetus

(4) Baby

Fertilization takes place in human

(1) Inovary

(2) Inoviduct

(3) Inuterus

(4) Invagina

Right order of organs
reproductive system is

(1) Oviduct = Ovary — Uterus
Vagina

(2) Ovary = Oviduct = Uterus
Vagina

(3) Uterus = Oviduct = Ovary
Vagina

(4) Oviduct = Vagina = Ovary
Uterus

of female

-

-

-

-

31. In which part of cell, the chromosome is

found ?
(1) Inplasma membrane
(2) Incytoplasm
(3) In nucleus

(4) Innucleolus

[BIO-2]

28. I orgwen A AT 3 i ¥ sk & g

29

3T TEAM o G & PHedi & -

(1) g

(2) g
(3) T

4) g

. 79§ e B @ -

(1) ™ F
(2) FrvEarfe |
(3) THiE #
4) A+

30. @ Y o B S B HE FH B |

31

(1) Srvsaiedt — oUeE - THE -
RN

(2) IS — IUedlel — T
QT

(3) ™™ - SvEdiel - ey -
N

(4) SvEaet - AN - FERE -
T

. TR & FE AT § O 9T S © -

(1) iR e o
(2) @I 5= |
(3) @ |
4) s |

(13)



32. Which organ secretes Testoterone
Hormone

(1) Ovary
(2) Oviduct
(3) Testis
(4) Uterus

33. Which one of the following bacteria is
found in the roots of pulse plant

(1) Rhizobium

(2) Lactobacillus
(3) Mycoderma aceti
(4) Azotobacter

34. The removal of unwanted plants from the
farm is called ;

(1) Ploughing
(2) Irrigation
(3) Weeding

(4) Harvesting

35. Which one of the following is responsible
for yellow vein mosaic disease in bhindi ?

(1) Virus
(2) Bacteria
(3) Fungus

(4) Algae

[BIO-3]
32. &N 41 i IR W T HEaT D -

(1) oeIm

(2) 997
(3) SrvEare
4) T

33. PrefoRe ¥ & @ ohar aoe A 3 ot ¥
qrT ST ® 7

(1) EsifeEm
2) VR
(3) wrEbiEn Ty
(4) THREFREY
34. @q @ srie Qe B ge B Feq © -
(1) Ja=
(2) =g
(3) g
(4) ET e

35. frifeaa & & @9 Rt § 9 Rrar A9
W (e ) B fore SeRarh @ ?

(1) famroy
(2) sfrrg
(3) %@
@) dar

(14)
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36.

37.

38.

39.

40.

41.

History ( 3@ )

Columbus was the inhabitant of which

country ?
(1) Italy (2) England

(3) Spain (4) America

In which country did the industrial

revolution start ?
(1) America (2) France -
(3) Italy (4) England

Who had led the English Army in the
Battle of Plassey ?

(I) Warren Hastings

(2) Robert Clive

(3) Cornwalis

(4) Lord Mayo
When was Birsa Munda born ?

(1) 1870 (2) 1878
(3) 1874 (4) 1876
When was TISCO established ?

(1) 1905 (2) 1902
(3)..1907 (4) 1900

From which area did the Woods Dispatch

policy relate to ?
(1) Agriculture (2) Tax

(3) Education (4) Justice

[HIS-1]
6. Hierad fhd a7 F T o ?
(1) T 2) s
3) & (4) AR

37. ot i @& o fhe A 7 ga ?

(1) R (2) wE

(3) et 4) Fis

38. @l & g& H ST AN W g fhEd e

qr ?
(1) ar+ e
(2) VT FIEA
(3) @A™
@) @ T4

39. fowEn guer @ 5 F9 go o ?

(1) 1870%. (2) 1878%.

(3) 1874%. (4) 1876%.

40. =B (TISCO) P TUAT FF B T 7

(1) 1905 (2) 1902

(3) 1907 (4) 1900

41. gga et Ay Rew &7 & wow & ?

(1) HN

(3) farm

2) *X

(4) =

(16)



42.

43.

44.

45.

46.

47.

By whom was the magazine 'Harizan'
brought out ?

(1) Mahatma Gandhi

(2) Subhash Chandra Bose
(3) Bhagat Singh

(4) Jawahar Lal Nehru

Who had started the movement of widow
remarriage ?

(1) Ram Mohan Roy
(2) Jyotirao Phule
(3) Ishwar Chandra Vidyasagar
(4) Pandit Ramabai

Who founded the Prarthna Samaj ?
(1) Dayanand Saraswati
(2) Jyotirao Phule
(3) Ishwar Chandra Vidyasagar
(4) Govind Ranade

When was the practice of Sati abolished ?
(1) 1830 (2) 1840
(3) 1853 (4) 1829

Murals and offerings are the part of
which art ?

(1) Madhubani art (2) Manjura art

(3) Pal art (4) Patna art

Where was the Satyagrah of Gandhiji
experimented first ?

(1) Darbhanga (2) Champaran

(3) Patna (4) Gaya

42.

43.

4.

45.

46.

47.

[HIS-2]
BRo e IR e aRT el W o ?
(1) wer T
(2) gIY I= 9
(3) 9 Rie
(4) SEEY AT T
foreen gHifeare & fre e feem =emr e ?
(1) ™ AT W™

2) @ g
3) 3R T% faEmarR
@) dfea o
ST TS e ey -
(1) =IF= |t
(2) S o
(3) 3R T% fEmarR
(4) = TS
el 9T T T B A | 2
(1) 1830%. (2) 1840%.
(3) 1853¢%. (4) 1829%.
Rrefiferr wd e fpe @ & 9 & 7
(1) wgsell &M (2) w[ET &l
(3) WIS e (4) T e

TN & TWE & J99 TART Fel B ?
(1) = (2) =R
(3) e 4) ™

(17)



48.

49.

50.

51

53.

53.

54.

Geography (T )

What is needed for resource generation ?
(1) Technique (2) Need
(3) Knowledge (4) All above
Resource available everywhere
(1) Forest (2) Uranium
(3) Wind (4) Agricultural land

Kishunganj Purnia is famous for........
cultivation.

(1) Wheat (2) Maize
(3) Coffee (4) Jute
Minerals can be divided into........ types.
(1) Two (2) Four
(3) Six (4) Eight

Muscovite is type of..........
(1) Mica (2) Copper
(3) Iron (4) Brass
Most dense district of Bihar is...........
(1) Patna (2) Sheohar
(3) Gaya (4) Muzaffarpur

In India the First Textile Mill was
established.........o ..

(1) in Mumbai  (2) in Chennai

(3) in Kolkata (4) in Bangalore

[GEO-1]
48. wEree R & RIC F oEEsd §
(1) b (2) STELFH
3) = (4) SwE ad
49. T IYH FEEA § -
(1) a9 2) g
@) @) M g
50. ReerrioT gRE SRS R Gl b
ferT |
1 (2) W
(3) el 4) I
51. GFET Bleeeeeeeeenn. gl & Sfe qebd © |
1 @ (2) =X
(3) ® (4) o3
52. TERART........cooo.. H TH TR &
(1) SERE (2) dra
(3) el (4) Haw
53. foER ® waifye o9 drl ... T
(1) Te 2) Rt
(3) = (4) JoTFHIIY
54. WRG § Uee BUST (A TG Tovewvvenenes
(1) gme R @ &
(3) Fwa ¥ (4) Ige &

(18)



55. In the following which are the name of
trains ?

(1) Palace on wheel,
Archana, Duronto

Jananayak,

(2) Kota, Panipat, Mathura, Barauni

(3) Godavari, Krishna,
Brahmaputra

Sundarban,

(4) Gaya, Kandla, Jabalpur, Paradip
56. Driving License issued by..........

(1) District Agriculture Officer

(2) District Excise Officer

(3) District Education Officer

(4) District Transport Officer
57. Pie Diagram is known as............

(1) Line Graph

(2) Bar Diagram

(3) Circle Diagram

(4) All above

58. The following countries are in South East

(1) Nepal, Bhutan,
Bangladesh

Srilanka,

(2) China, Japan, North Korea, South
Korea

(3) Kampuchia, Laos, East Timore,
Brunai

(4) Iraq, Iran, Turkey, Saudi Arabia

[GEO-2]

55, frefefReg # @A A S A & ?

(1) Y9 offF 2, ST, ST, Tt

(2) e, YT, 7Y, TAA

(3) MR, H, Fava, SEg

v (4) T, HiEE, STEAY, TREY

(4) Rem gREes geTeEe

57. 99 STRE B FHT A 8..vvveeeen.

(1) @ %

(2) T G
(3) = ARG
(4) ITAF gl

58. frrefied Qa1 aferor gt oftrer & B

(1) U, e, e, TR
(2) AN, UM, I HIRAT, T BT

(3) wfer, e, et R, g

(4) TTH, I, TH, Q& R/

(19)



59.

60.

61.

62.

63.

64.

Civics ( ORI )

Who was the chairman of the Drafting
Committee of the Constituent Assembly ?

(1) Dr. Bhim Rao Ambedkar
(2) Dr. Rajendra Prasad

(3) ShriJawaharlal Nehru
(4) Sardar Vallabhbhai Patel

Indian National Congress was founded in

the year
(1) 1920 (2) 1885
(3) 1892 (4) 1930

Which part of the Indian Constitution

contains the Fundamental Rights ?
(1) Part-I (2) Part-II
(3) Part-III (4) Part-IV

By which Constitutional Amendment the
word secular is in incorporated in the
preamble of the Indian Constitution.

(1) 42nd amendment
(2) 36th amendment
(3) 43rd amendment
(4) None of the above

Which form of Govt. is provided by the
Indian Constitution.

(1) Presidential

(3) Monarchy

(2) Parliamentary
(4) None of the above

How many Constituencies are in Lok

Sabha ?
(1) 543 (2) 545

(3) 590 (4) 525

[CIV-1]

59. wfE @9 @ AT6Y Ry & TERE B & ?
(1) . dRE e
(2) . =TT
(3) it SRR W €S
(4) WER T AR 9eq
60. WY TS FHiTE B TS B GOl -
(1) 1920 (2) 1885
(3) 1892

61. A iR dgm & fea wm & affa 8 7

4) 1930
(1) -1 @) Fm-1I
(3) Fr-II1

62. Ry & frg daed & T oH FRUsEn @
dfaar @ Sefdes & anfee fean @ -

(1) 428 dew & &

4) w1V

(2) 363 HMeEE & &
(3) 433 dMeE & &N
4) S ¥ § P T8

63. WG @ GRUM fFE TER @ EER 9

Y& T 8 7
(1) oTeeig (2) Hadd
(3) ST (4) IR & § P &l

64. Apaw § feem ot &= ¥ ?
(1) 543 (2) 545

(3) 590 (4) 525

(20)



65.

66.

67.

68.

69.

70.

'MSP' means -
(1) Minimum support price
(2) Maximum support price
(3) Marginal support price
(4) None of the above

An arrested person should be produced
before a magistrate within

(1) 12 hours (2) 24 hours
(3) 36 hours (4) 48 hours

'Legal Services Authorities Act 1987" is
effective from

(1) 1995
(3) 1990

(2) 1987
(4) 1985

Besides Bank, the other formal source of
cheap credit in rural areas for farmers are

(1) Money lenders
(2) Zamindars
(3) Co-operatives
(4) Friends and relatives
The aim of buffer stock is
(1) To protect food grains from insects

(2) To resolve the problem of food
shortage

(3)
(4)

Who plays the most important role in law
making

To stop the price fluctuation

Both 2 and 3

(1) Parliament
(2) President
(3) Prime Minister

(4) Vice President

65.

66.

67.

69.

70.

[CIV-2]
'MSP' & ard B -
(1) < e 99 |
(2) wfE™ T g9 A
3) G I g |/
(4) SWH § q F3 Tl
FReaR B T afth & B @ & ol

AT & G T HT TS © -
V() 12§ (2) 24 €2
(3) 36 (4) 48 €2

‘faftrep Tar wiReR AfRfET 1987’ #9 @ gHE!
3.
(1) 1995
(3) 1990

(2) 1987
(4) 1985

. B & oramar el A F fRETl @ wR W

R FO1 BT IYeT FIC § -
(1) dRHR
(2) “H=R
(3) wewHr wifa
(4) E wd Redar
‘qHT EI’ TS B T @
(1) TEr & Hel d g9 @ Fam
(2) @R HHe B G BT
(3) Tt | IR =AGE H Vbl
4) T R A A

HT M H Fa9 AeAqel g el e
g7

(1) "a
(2) i
(3) gerHE
(4) IuTSTAfer
(21)
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71.

72.

73,

74.

75.

Mathematics ( T )

Shabnam bought a cooler for ¥ 6500
including 4% VAT. Determine the value
of the cooler before adding VAT.

(1) 6250 (2) %6249

(3) %6260 4) 36263

(P+1) (P2+2P) - (P-1) (P-2P+1) = .....

(1) 6P2+P-1  (2) P>+P+1

(3) 6P%-P+1 (4) P2-P+1

If the rate of compound interest on
< 2000 becomes I 2315.25 in one and
half years, then tell me the rate of annual
interest, when the interest is compounded

half yearly ?

(1) 5% (2) 6%

3) 7%% (4) 10%

A fruit seller buys some fruits. Later he
finds that 15% of the fruits in it were
rotten. If he has left with 34 fruits after
selling 60% of the remaining fruits, then
tell me how much fruits did he buy
initially ?

(1) 100 (2) 115

(3) 119 4) 111
Find the square root of 0.03179089 x 10* ?
(1):17.63 2) 17.83

(3) ©19.79 (4) 17.25

71,

72,

73.

74.

75

[MTH-1]

g9 ¥ Th F 4% VAT §fed 6500 &
gla | VAT sfigd 8 Ted F & g
feiRa #¢ ?

(1) 6250 (2) 6249

3) T 6260 4) T 6263

(\P+1) (P2+2P) - (P-1) (P2-2P+1) = .....

(1) 6P>+P-1 (2) P2+P+1

(3) 6P2P+1 4) P2P+1

af 20003 &1 g AW H T F 1o T
7 2315.25% & oar ® @ affe = @
A STafh =T gHE G erar & ?

1) 5% (2) 6%

3) 7%% 4) 10%

T Bl sl B el @ded § | 9% F 98
g ® 5 SEH 15% % 68 g A 1 AW
H 60% T & I& IR Igb TH 34 G T4
™A@ g ¥ a8 fea wa @l
oqr ?

(1) 100 @) 115
(3) 119

0.03179089 x 10* &1 e e ?

@) 111
(1) 17.63 ) 17.83
(3) 19.79 @) 17.25

(23)



76.

T,

78.

79,

Three persons in a business, Suresh,

Sudhir and Shyam. Suresh has invested
9
20

invested —27—0-th part of the total capital. If

the total capital invested by Shyam is
Z 7000, then what is the total capital of

th part of the total capital. Sudhir has

business ?
(1) ¥ 35,000 (2) ¥32,000
(3) < 38,000 (4) 40,000

The internal and external radii of a 2
meter long tubular pipe are 5 cm and
7 cm respectively. If it is melted and a
wire of 2 mm diameter is drawn, then
what will be the length of the wire ?

(1) 4900 meter (2) 4800 meter

(3) 4200 meter (4) 4600 meter

In a given figure there is a square plot
each side of which is 25 meter. There is a
house in the middle and garden have been
planted around the house. What will be
the cost of planting a garden at the rate of
T 55 per square meter.

4———— 25' Y ——>

//

N
/////

(1) 21,000 (2) 17,675
3) ¥1,79,900 (4) 17,875

The sides of a triangle are 11 meter, 60
meter and 61 meter. What will be the
length of the perpendicular drawn from
the front vertex to its longest side ?

(1) 10.39 meter (2) 10.82 meter
(3) 11.28 meter (4) 12 meter

\\\>

l\

[MTH-2]

76. TH wEEE § 4 A g, gk ok @M
%wéﬁﬁl@arﬁaﬁivﬁemz%a?ﬂm,
gﬁt%@iﬁﬁw%aﬁmm%nqﬁ:
@ ER @ T gd Gt 7000 X B @

gEE # g Gon e © |
(1) ¥ 35,000 (2) 32,000
(3) T 38,000 (4) ¥ 40,000

77. 2 HeX T Th G TRY B ARG T el
Beud Ha 5 . wg 7 @M. R 0 W@
Rieeeee 2 M. | & b a) g S @
A AR & T fea Rl ?

(1) 4900 HieX (2) 4800 HieX

(3) 4200 HieX (4) 4600 HieX

78. & T TR ¥ TH iR wie e q0w
o 25 He ¥ | gEd 9 F T W ¥
T @ R X R Fme W E 1 55% ufd
Ft dex # W A T T G Gd R
BT ?

4——25 HX——>

!

25 Hiex
(1) ¥ 21,000 2) 17,675
3) ¥ 1,79,900 4) 317,875

79. Rl B @ e 11 #iey, 60 Hex w 61
dex ¥ | T §eQ Wl YET W A aml
M & e T T B R a4 e ¢

(2) 10.82 HexX
(4) 12 #@eX

(1) 10.39 #HreX
(3) 11.28 HieX

24)



80.

81.

82.

83.

84.

In a fair these was provision of food for
45 days for 150 people. After 10 days, 25
men left the fair. How many days will the
food last at the same rate ?

(1) 45 days (2) 43 days
(3) 42 days (4) 49 days

if 2x-1 0 Ly 1-XV\_ 4. then
4 7 2

find the value of x ?

1) 5 (2) 7

3) 9 4) 3

Baichung's father's age is 26 years less
than Baichung's grandfather's age and 29
years older than Baichung's. If the sum
of all three ages is 135 years, then what is
the age of Baichung's father ?

(1) 60 years (2) 52 years

(3) 46 years (4) 40 years

The ratio of digits of tenth's and unit's of
a number is 3:4. If 18 is added to original
number then the digit of the number will
be reversed, then what will be original
number ?

(1) 68 (2) 62

(3) 48 4) 78

3y* - 14y3 + 12y% + 6y - 5 to be divided
by y? -4y + 1

(1) 2y +3y + 1 (2) 3y?-2y + 1

(3) 2y?-3y+1 (4) 3y2-2y*+1

80.

81.

82.

84.

[MTH-3]

TF A § 150 iRt & e 45 Rt @ Aoe
H Faer &t | 10 REF & 9 25 STeHt Al
BIgH gd T | I X Y F Ao fha At
T e ?

(1) 459 () 43
(3) 42f= (4) 49 9
Ix-1 -—1—(2x- 1'X)=4€rehx25rqr=r
4 % 2
dane |
1 5 1
3 9 “4) 3

EYT B T B oY, AEYT & AT H oG A
26 9% %9 & T SISYT H G § 29 A SR
g1 AR AN B ooy w oA 135 99 & @
YT B R B ong F R ?

(1) 60 9% (2) 52 a9

(3) 46 ad (4) 40 o

I 3:4 ¥ IR g wew 7 18 e fRar s
q e & of% I W B | qW e ;|
Bt ?

(1) 68 (2) 62

(3) 48 4) 78

3y*-14y° + 12y* + 6y - 5@y -4y + 19
qr T |

1) 2y +3y+1 (2) 3y>-2y + 1
3) 2y2-3y+1 @) 3y*-2y*+1

(25)



85. In a given figure RISK and CLUE are two
parallelogram, then find the value of x.

Keioo B S U
oy X
P
709
R I (& i £

(2) 40°

{3y 50° (4) 90°
86. What is the value of (37! + 21 + 5°?

(1) 120°

2) -1
1
4) =

87. What is the length of one side of the cube
whose volume is equal to the volume of a
cuboid 50 cm x 36 cm x 15 cm.

1
(1) >
3) 1

(1) 90 cm (2) 30cm

(3) 60 cm (4) 120 cm

88. The length and breadth of a rectangle are
15 meter and 12 meter respectively. Find
the length of one side of a square when
the areas are equal ?

(1) 13.42m (2) 14.42m
(3) 23.43m (4) 12.41m
89. What will be the square root of 0.002025 ?
(1) 0.054 (2) 0.045
(3) 0.032 (4) 0.037

90. In a survey of 200 women was found that
82 women like coffee while 118 women
do not. One of these women is chosen at
random. What is the probability that one
women chosen does not like coffee.

239 59
¢ 100 @) 100 100
19 49
) 100 @ oo 100

85.

86.

87.

88.

89.

90.

[MTH-4]

é’r anzgi%rﬁRISKHmCLUEa"rWaT
a"r asrtn?raﬂm?

iz SR

(1) 120° (2) 40°
v(3) -50° 4) 90°
(31 4 21 + 51)° g 7 BW ?

1
(1), To- ) -1
1
3) 1 @) -7

I O P TH SN H s @ e
Mg 50 .. x 36 A.4. x 15 .4, AT
TN & I & SUE & 7

(1) 90 §.4. (2) 30 9.4.
(3) 60 A .H. (4) 120 8.7

% AT # =R Ud ASE A 15 Hiew
12 fex B | 36® %9 B SUET HAGA A
T o P Th YO A TS S ¢

(1) 13429 () 144270

(3) 23.43HeX  (4) 12.41 9K
0.002025 & e 1 B ?

(1) 0.054 (2) 0.045

(3) 0.032 (4) 0.037

200 #fewell & UH §a ¥ A T 82
TRa HH qEE H & oEe 118 T U
T R ¥ A uH AR B OAGHA
(Randomly) I Sem & | g6 I T Ak
e T e S I TEE T8 B § 7

39 59
M Too @ To0
79 49
3 Too @ To0

(26)



For Rough Work Only
(et oot HF B o)
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For Rough Work Only
(Faar ot wF & o)
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